Monday
R-WALT; divide 2- and 3-digit numbers by 1-digit numbers

Steps to success
Copy the calculation carefully
Use column division to solve it
Use your knowledge of times-tables to help you
Use your knowledge of column subtraction to help you
Record your answer
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Tuesday
R-WALT; divide 2- and 3-digit numbers by 1-digit numbers

Steps to success
Copy the calculation carefully
Use column division to solve it
Use your knowledge of times-tables to help you
Use your knowledge of column subtraction to help you
Record your answer
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Wednesday
WALT; identify factor pairs and use them to answer related multiplications and divisions

Steps to success
Identify factor pairs (pairs of numbers that multiply to give another number) for numbers 
Use the factor pairs to help answer multiplications
Use factor pairs to help answer divisions
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Friday
R- WALT; calculate number bonds to 100
Steps to success
To help you find bonds to 1000, use bonds to:
10
100 and 
1000 
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A challenge- if you want it
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3. A+100=

Key questions
“IfA is 325, what are B and





image1.png
AL Dividing 2- and 3-digit numbers - Work - Microsoft Edge

1 https://www.activelearnprimary.co.uk/player?id=168441&fil

{_th2_pa1_large jpgadype

bafullscreen=08allocls

- X

&tools=undefined&previewBeforeOpen=undefinedgdsProductP...

)




image2.png
AL Dividing 2- and 3-digit numbers - Work - Microsoft Edge

(1 https://www.activelearnprimary.co.uk/player?id=168443&file=

- X
\_tb2_p44 _large jpgadype=kb&fullscreen=0&allocld=0&tools=undefined&previewBeforeOpen=undefinedaisProduct?...




image3.png
AL Dividing 2- and 3-digit numbers - Work - Microsoft Edge

1 https;//www.activelearnprimary.co.uk/player?id=168446&fil

|_th2_pd7_large jpgadype

bafullscreen=08allocls

- X

&tools=undefined&previewBeforeOpen=undefinedgdsProductP...




image4.png
350 + [0 = 1000
+ 520 = 1000
710 + 0 = 1000
+ 930 = 1000
245 + 1 = 1000
+ 325 =1000
352 + [0 =1000
+ 489 = 1000

407 + 1 = 1000
+ 814 = 1000
648 + 1 = 1000
+73 =1000
216 + 1 = 1000
+538 = 1000
333 + 1 =1000
+471=1000

Wilf says, ‘Think of any 3-digit number with five 10s.
Its complement to 1000 will have four 10s.” Test this.
Is he right?
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Find complements to 1000

. 350 + 650 = 1000 9.

. 480 + 520 = 1000 10.
. 710 + 290 = 1000 11.
. 70 +930 = 1000 12.
245 + 755 = 1000 13.
. 675+ 325 =1000 14.
352 + 648 = 1000 15.
. 511 + 489 = 1000 16.

407 + 593 = 1000
186 + 814 = 1000
648 + 352= 1000
927 +73 = 1000

216 + 784 = 1000
462 + 538 = 1000
333 + 667 = 1000
529 + 471 = 1000
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. This is true for most examples, e.g. 348 + 652 = 1000 but is
not true for all, e.g. 350 + 650 = 1000.
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